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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct answers : 1x7=7
w7 TeIo! A Tiereat 3
(a) Tunicates are the example of the
subphylum :

ECI Q6 P O (RG] Tolora Bt 2
() Urochordata

WW

’ - Contd.



(ii) Cephalochordata
Mg spms

(iii) Hemichordata
g opwSt

(iv) Homometabolous

T CIGIREAR

(b) Torsion is the characteristic of
. B'IwE o (7l T
(i) Ga;stropoda
(IZol"ore

(i) - Scaphopoda
T TS

(iii) Aplacophora
QAF T IS

(iv)" Pelecypoda
 (oifemiReieTe
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(c) Excretory system in Annelida consists
of

@] AT @B SR TR
(i) . nephridia

(ii) green glands
A aifg

(i) coxal glands
T Afg

(iv) flame cells
&9 (P

(d) How many pairs of cranial nerves are
found in fishes ? '

gmm@mm(@mﬁm@ AR
® 5 ?
() 12
53
(i) 10
pYe)
(i) 8

b
(iv) None of the above

@293 YBI8 «ZF
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(e) In birds, sound is produced by

BRI2S *¥ 38 IR
(i) air sacs -

- Y @EIERI
(i) trachea

WPl AR

(ur) larynx
@R R
(iv) syrinx |

IR R ARl

(f) Exertion in amphibians _are.
Tobd AR @A (T2

() ammonotelic

Qe
(i) uricotelic
SRR
(i) ureotelic
. RReGER

(iv) Both (i) and (iii)
9l (1) SR (i)
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(g9) The disease in man caused by infection
of bladder worm is known as

TR [ TR Foo ® MZS (3
(ITRCET T2
(i) schistosomiasis

BRI P72
(i) cysticercosis
(i) taeniasis
lRafg
(iv) enterobiasis

GQUBERRAERS

2. Write on the following : (Any four)
| 2%x4=8

Ol 2RO O R et 3 (Rzemean 5175

(a) Parasitic adaptation of Ascaris
QFIRE G SfSTAre

(b) Polymorphism of Cnidarians |

QITTWR] ANTIR T==horo]

(c) Characteristics of Protozoa
20’ EAR HRETZ
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(d) Metamerism and its advantages in
Annelida

749! TR Rrerg R JRaE

(é) Compound eyes in Arthropods
HAfwem! eifie @ 53

3. Answer the following questions: (Any three)
5x3=15
e PTIR O fordll ¢ (Ricerear fefany)

(a) Write about different locomotory
organelles found in Protozoa.

 elbwaR RS vom srapTz 3 41

(b) Give an account of the general
characteristics of Arthropoda.

AfFel 2NN AR SRR 3991 ]9

(c) Write the distinguishing characters
between Osteichthyes and
Chondrichthyes.

EFAT R FTHRI e ﬁma
Wﬂqqﬁﬁznl
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(d) Give a brief account of the flight
adaptations of birds.

bART T SiSrRIeTR KA 550 391 a1 |

(e) Give the characteristic features of
mammals.

BAR eNTR el SRR 3941 = |

4. Answer the following questions : (Any
three) 10x3=30

O PHTROIN O 1l 3 (Rizeercr fofs)

(a) Discuss the canal system i'n-Sycon with
diagram. What is the importance of _
canal system in Porifera ? 7+3=10

QIR ool B TS SEval 711 | IRAR
AT FeTous @9 [ Byl |

(b) What do you mean by metamorphosis ?
Discuss briefly hormonal control of °
metamorphosis in insects. 2+8=10

FAG e B o 2 ASBR DRIGHTS
[N gl 31 7= |

(c) Discuss the water vascular system of
Asteroidea. Mention its functions.

6+4=10

QBIGAS AW HAAZTOTT R S 21 |
AR AeIZTOET P R o
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(d) What is meant by osmoregulation ?
Discuss osmoregulation in freshwater

fishes. 2+8=10
oy g i e ffe st e wigfe
Fgem et adfar =t |

() What are different modes of parental
care found in Amphibia ? Discuss them
by giving examples. - 10

@EW&T%%WUW% 3
& [ 2 ThimE tire Tone 2N forp-iga
G [REw 39 == :

(f) Distinguish between poisonous and
non-poisonous snakes. Write about the
biting mechanism of a poisonous snake.

3+7=10

fare i sl wsfq st R 11 Rare
Hofg wew AP 6 T |
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